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We have always used the Standard Form of a Parabola to illustrate quadratic relationships.


y = ax2 + bx + c
Now we have another form, which can be very useful for graphing parabolas and modeling quadratic relationships. It’s called the “Vertex Form of a Parabola.”

y =
a
(x –
  h
)2 +
k


Coordinates of the Vertex: (h, k)

*vertex is the minimum if a > 0

*vertex is the maximum if a < 0

The Parameters 

a = 
stretch factor




h = 
horizontal shift




k = 
vertical shift


	If…
	the graph will…
	Example

	a > 1
	be vertically stretched (skinnier)
	




	0 < a < 1
	be vertically compressed (wider)
	




	-1 < a < 0
	be vertically compressed AND upside down
	



	a < -1
	be vertically stretched AND upside down
	


	x – h 
	be shifted right ‘h’ units
	



	x + h 
	be shifted left ‘h’ units
	



	+ k
	be shifted up ‘k’ units
	


	– k 
	be shifted down ‘k’ units
	




